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Sibatitute numanicol soduga inte gormilog. ond. eprassions. 1
1
Underatond. ond. wae atandard mathematicol gstmuloe :
A
What (o o gonmido?
A formula is a fact or rule that uses mathematical
symbols.
. 11 It will usually have:
1 |
. 1 o n equals sigw (=
: Variable — an unknown value, represented by a I Aneq o (=)
| letter 1 e Two or more Variables (x, v, etc) that
1 1 : ,
. . stand in for values we don'+ know vet
I Term — a single number or variable, or numbers or 1 e wedo wH
. o o 1 .
: variables multiplied or divided by each other 11 It shows us how things are related +o each other.
1 (positive or negative) 1
| | : _ _
I Expression — two or more terms added and/or 1| Unepul mothemoticol A=lxw V=Ixwxd
: subtracted : porvudoe a® + b? = 2 T
R ! 2
. . . I 1
: Eduation — an expression that contaivs an equal N ”O%iiiﬁrf;i;sz‘n‘;‘::VS‘ZVY”@!V”W‘? : > :
1 6} L H =]
| symbol Vb T ] s= g | LA
1 ) . V] o convert temperatures between Celsins (C) and
I Formula — a relationship or rule : Fanrenheit (F), use the formula F =1.6C + 32
1
1 l—lk@ T@Y‘W\S - terms ‘H/]ﬁ‘t’ ]/]ﬂl\/@ _H/]@ Same Vﬂll’iﬂlbl@s | A taxi company charges .£2.00 per journey plus 30 pence per mile.
1 d 1 a Write down an equation for £7, the total cost of a journey of
I m Powers : b :orllr:i.ch would it cost to travel 5 miles?
I . . c am charge . orm ourney, now rar i ravel?
| Inverse — reverse or opposite of a fumction I e, vy i ottt
a Total costis £2 + £0.30 per mile
I I =2+ 03m
1 Expand - to multiply each term v the bracket by 1 B s
I the expression outside the bracket : i gl L
! 21 =03m b“\:\uruy L::'.‘] 3 :
: Substitute — swap a variable for a nvumerical value : MDNY vt @ wilea '
- S LT LT T T T T T I T———
: — | ey
1 Basic substitufion i Sibatitution Examplea
]
1 I
. ; _
\ Evaluate Yc, whenc<7 ' Evauate 205, when oY ! Ifx=5
] |
N - I
) IF ¢ = 7. this meams the U iPa - 4, ths meons the ! 4x 4x5 20
| expression s ashing for & 10t 1 expression is ashing for 2 ots of :
of 7.or ! phus 5, 0
: |I pEas E 3x+9 (3x5)+9 24
|t - W7 J0v5 = W) + 5 |
1 ;£ g " L\
I - 7% -§+5 1 2(6X5—4)
- — 52
! L -8B i 2(6x —4) 2(30-4)
1
ittty bty ‘, Tfx=10audy = 3
\ Harder Substitution :
: ! 2x +y (2x10) +3 23
2 v
|6 (X U ) e=remember this meons X squored, !
: Dhl‘:n 4 al mUTI[_‘."Eﬂ bl.{ b remeriber : Xy 10x3 30
! X-- I
! I 1
:Ifxzj, . "Ifx=7-2, «L ! Exy % x10x3 15
:(:-[x“*'-l:'=6ii3:"*'+:'IH}(‘*'—H%H-E]*'—H: 5 5
! -6(9:4) <64 4) Xy 10x3 0
X =6(13) I =6 (8) ! 5 X
:_______=_.7'__E_____'_ ______ iLl_E_ _____ | 4x°y 4x10°x3 1200




